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Question 4
Capital structure of D Lid. as on 315!March, 2023 is given below:

Particulars 4
Equity share capital (¥ 10 each) 30,00,000
8% Preference share capital (¥ 100 each) 10,00,000
12% Debentures (¥ 100 each) 10,00,000

) The Institute of Chartered Accountants of India

14 INTERMEDIATE EXAMINATION: MAY, 2023

e  Current market price of equity share is ¥ 80 per share. The company has paid dividend of
¥ 14.07 per share. Seven years ago, it paid dividend of ¥ 10 per share. Expected dividend
is 16 per share.

o 8% Preference shares are redeemable at 6% premium after five years. Current market
price per preference share is < 104.

e 12% debentures are redeemable al 20% premium after 10 years. Flotation cost is &5 per
debenture.

e  The company is in 40% tax bracket.

e Inorder to finance an expansion plan, the company intends to borrow 15% Long-term loan
of £30,00,000 from bank. This financial decision is expected to increase dividend on equity
share from & 16 per share to ¥ 18 per share. However, the market price of equity share is
expected to decline from ¥ 80 to ¥ 72 per share, because investors' required rate of return
is based on current market conditions.

Required:

() Determine the existing Weighted Average Cost of Capital (WACC) taking book value
weights.

(i) Compute Weighted Average Cost of Capital (WACC) after the expansion plan taking book
value weights.

Interest Rate 1% 2% 3% 4% 5% 6% 7%
FVIFis 1.051 | 1.104 | 1.189 | 1.217 | 1.276 | 1.338 | 1.403
FVIFis 1.062 | 1.126 | 1.194 | 1.265 | 1.340 | 1.419 | 1.501
FViFi,7 1.072 | 1.149 | 1.230 | 1.316 | 1.407 | 1.504 | 1.606

(10 Marks)
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The following is the extract of the balance sheet of M/s KD Ltd.:

Particulars Amount (3) e
\ Ordinary shares (Face value 710 per share) 5,00,000 . aerg g
|| Share premium 100,000 =
Retained profits 6,00,000
\1 8% Preference Shares (Face value 225 per share) 4,00,000
‘. 12% Debentures (che value ¥100 each) 6,00,000
22,00,000

| The ordinary shares are currently priced at 339 ex-dividend and preference share is priced at 18 ’
cum-dividend. The debenture are selling at 120 percent ex-interest. The applicable tax rate to KD

Ltd. is 30 percent. KD Ltd.'s cost of equity has been estimated at 19 percent. Calculate the WACC
(weighted average cost of capital) of KQ Ltd. on the basis of market value.

#\
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(b) MR Ltd. is having the following capital structure, which is considered to be optimum as
on 31.03.2022.

Equity share capital (50,000 shares) ¢ 8,00,000
12% Pref. share capital ¢ 50,000
15% Debentures < 1.50.000

¢ 10,00,000

The Institute of Chartered Accountants of India

PAPER 8: FINANCIAL MANAGEMENT AND ECONOMICS FOR FINANCE 13

The earnings per share (EPS) of the company were & 2.50 in 2021 and the expected
growth in equity dividend is 10% per year. The next year's dividend per share (DPS) is
50% of EPS of the year 202I. The current market price per share (MPS) is ¥ 25.00. The
15% new debentures can be issued by the company. The company's debentures are
currently selling at ¥ 96 per debenture. The new 12% Pref. share can be sold at a net
price of ¥91.50 (face value ¥ 100 each). The applicable tax rate is 30%.

You are required to calculate
(a) After tax cost of

(i)  New debt,

(i)  New pref. share capital and

(iii) Equity shares assuming that new equity shares come from retained earnings.
(b) Marginal cost of capital,

How much can be spent for capital investment before sale of new equity shares
assuming that retained earnings for next year investment is 50% of 20217 (6 Marks)

Answer
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A company issues:

15% convertible debentures of 100 each at par with a maturity period of 6 years. On

muturity, each debenture will be converted into 2 equity shares of the company. The risk-

The company has paid duwdend of ¥12.76 per " share. Five years ago, it paid dividend of ?10

per share. Flotanon cost is 5% of issue amour

5% preference shares of ?100 each at premlum of 10% These shares are redeemable after

10 years at par. Flotation cost is 6% of i issue amount.

Assuming corporate tax rate is 40%.

(i) Use YTM method to calculate the cost of preference shares.

(i) Calculate the cost of convertible debentures usmg the approxrmatnon method.

Year b2+ 3 T w [ S 6] 1] sk

# || PVIFA 503

PVIFoos: - ]0.971]0.943 [0.915{0.888 [ 0.863 [ 0.837 ] 0.813 [ 0.789 [ 0.766 | 0.744
PVIFoos: 0.9520.907|0.864 | 0.823 | 0.784 [ 0.746 [ 0.711 | 0.677 | 0.645 | 0.614
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Revision for CA Inter May'25 FM | CA Rak
urnings per share

Dividend per share

Expected growth rate in Dividend

Current market price per share
Tax rate

Requirement of Additional Finance

| Debt Equity Ratio (For additional finance)
|| Cost of Debt

‘ ; 0 -5,00,000
W |

| 5 00,001 - 10,00,000
I |
“ Above 10,00,000

| Panchs

L(TRP Sir)
B
{6
6%

3120

30%

{30 lakhs

&l

10%
9%

(a)

8%

Assuming that there is no Reserve and Surplus available in TT Ltd. You are required to
‘ Find the pattern of finance for additional requirement

(b) Calculate post tax average cost of additional debt
(c) Calculate cost of equity N
(d)

Calculate the overall weighted average after tax cost of add:t:ona& finance
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